Y3 - Autumn - Block 2 - Step 10 — Add and subtract 2-digit and 3-digit numbers - not crossing 10 or 100
Answers

Question Answer

a) 283
b) 349
1 c) 288
d) 789

a) 412
b) 501
2 c) 733
d) 913

a) £289
5 b) 379

a) Eva partitioned 37 into 30 and 7. Then she added 30 and then 7
b) 488
c) 712

221cm

Yes.
6 £125 + £72 = £177, which is less than £200, so Filip has enough money.
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In the additions, the numbers in each column can be either way round.
The lefthand subtraction is the only possible answer.
An alternative answer for the righthand subtraction is 631 - 17




